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BERARIFZRALEHENAR BHRIAHEHELZ DR
45 # (Consumer Price Index, CPI) Ai{E F &9 — & F % & (basket
of goods) &4 [10/7 % » 2 AR] - TAAHRREIRL=F
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2015 60 200 10 140 400 2
2016 50 250 12 150 500 2
2017 70 175 8 160 500 2

L (4%) 2015 FARME » H3tH 2016 FH L BRANEE
#£.%4(Gross Domestic Product, GDP) -

2. (8%) 33t H 2016 F41 2017 445 CPL-

3. (10%) 3451 2874 & 4 45 # o & GDP k45 #¢ (GDP
deflator) 3t & 2016-2017 #449:% § B Ak % (inflation rate) o

4. (4%) #itH 2017 £ CPl — & FH 2 MA R — K FH E
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FE | BE | #e | B | e | B | HE
2009 | 1125 12 10 1000 16 800
2010 | 1200 16 12 1200 15 1000

(1) 3+ 2010 & % B GDP

(2) 3HLA 2009 424 jL 87 » 3t 2010 4= § GDP

(3) 342009 4 & K 87 31 2010 4 GDP i #
(4) 3R 2009 4 2 85 > 3+ 2010 4 CPI

ANS :

(1) 48600

(2) 46000

(3) 105.65

(4) 105.79




